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F _,_- = aF + A F 
n+1 n n n 

\ 
aF = F • .L - A F ; 

n \n^X n n 
if n is odd, from Equation (2), 

aF = F , - + B F . n n+1 n n 

These equations show that aF will be less than F ,- if n is even, and 
n n+i 

will be greater than F , - if n is odd. 
to n+1 As n increases, A and B decrease fast enough that, if n ^ 2, n n & 

A F < 0.5 and B F < 0.5. n n n n 
Thus, if n ^ 2, it is possible to determine whether n is even or odd 

by multiplying F by a, then seeing if the product is greater than or less 
than the nearest integer which will be F -. For example, given that F = 
21, 21X1.618 = 33.978. This is less than the nearest integer, 34, thus a 
is even. 

Also solved by the Proposer. 

[Continued from page 437. ] When X and Y a r e - v e i n t e g e r s , 

X = ( 2 - L ^ k ) / 5 , I = (X - F 4 k ) / 2 , k = 1 , 2 , 3 , . . . . 

And tfhe g e n e r a l s o l u t i o n i n +ve i n t e g e r s i s : 

X - (2 + \ k . 2 ) / 5 = i f ^ j y= (X + 1^/2^2^1*2* 

Tim a u t h o r found t h e f i r s t s e t o f i n t e g r a l s o l u t i o n s w h i l e 

otherLS were found by Guy G u i l l o t t e 
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